EE 475 Fall 2009 Quiz #8
Name:





1. In order to have transient die out, all closed-loop poles of the system must be _













2. Use , , n , and  d to fill in the spaces below.

· Settling time is inversely proportional to ____
____

· Rise time is inversely proportional to ____
_____

· Percentage overshoot is most directly determined by ___
____

· Oscillation frequency is determined by ____
_____
· Peak time is inversely proportional to ____
_____

· Delay time is inversely proportional to ____
_____

